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class Wheel { | class Engine {

private: int size ; | private: double power ;

public: | public:

Wheel( int sz ) | Engine( double pw ) : power( pw ) {}

: size( sz ) {} | double get_power() { return power ; }
|
|

int get_size() { return size ; } }

>

class UniCycle : public Car {
private: Wheel* tire ;
public:
UniCycle( const char n[] , Wheel* w )
: Car(n ) , tire( w ) {}

class Car { |
|
|
|
|
| virtual void print() {
|
|
|
|
|

private: char name[ 20 ] ;
public:

Car( const char n[] ) {

strcpy( name , n ) ;

Car::print() ;
printf( "- %d inch\n" ,
tire->get_size() ) ;

virtual void print() {
printf( "%s\n" , name ) ;
} }
s

class OneWheelBike : public UniCycle {
private: Engine motor ;
public:
OneWheelBike( const char n[] , Wheel* w , double pw )
: UniCycle( n , w ) , motor( pw ) {}
virtual void print() {
UniCycle: :print() ;
printf( "-- %.f hp\n" , motor.get_power() ) ;

}
s (1) OOO0oOooobooooooooooon

void main() {
Wheel w18( 18 ) ;
Wheel w20( 20 ) ;
UniCycle uc( "Kids unicycle" , &wi8 ) ;
OneWheelBike owb( "Bulma’s Bike" , &w20 , 100 ) ;

Car* table[] = {
&uc , &owb ,

”

virtual"l
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for(int 1 = 0 ; i < 2 ; i++ )
table[ i ]->print() ;
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